A & ol & AF & Ml A

20179 =0l& et

Al

ton

200 Al2l=+=¢

210 o HAM A=

09 i 0

211 MHAL T4 ¢ (s )
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200 AI2l#el 10,653,705 9,515,997 1,137,708
210 IHEMASY 7,015,605 7,092,297 NT6,692
1At g 22,000 18,000 4,000
211-01 2R 9,000 5,000 4,000
[ 283 ] 9,000 5,000 4,000
<R > 9,000 5,000 4,000
OISMAA=RE 9,000,0002! 9,000
211-02 SR WAL 13,000 13,000 0
[ 283 ] 13,000 13,000 0
<R > 13,000 13,000 0
OFX=SH 5,000,000 5,000
OJIEt=SH 8,000,000 8,000
2 A824Y 2,222,694 2,178,704 43,990
212-01 SEAMEE 110,000 110,000 0
[ 25 ] 110,000 110,000 0
<R > 110,000 110,000 0
OANszzEEE 110,000,000& 110,000
212-02 GIEAE 2 5,000 5,000 0
[ Letsl A ] 5,000 5,000 0
<R > 5,000 5,000 0
OEN - F=F=F=3-1 4,000,000& 4,000
O3g+HEER 1,000,000 1,000
212-05 AIFAIRZ 52,000 52,000 0
[ 25 ] 52,000 52,000 0
<R > 52,000 52,000 0
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< WD > 1,760,692 1,526,694 233,998
OsgIIEtNE S8 MEZ 23,000,000 23,000
Osga2d 2¥=da MEE 7,000,000 7,000
OHUEH 2 IS HAKHNCIE, MHEAH S 9,000,000& 9,000
ORLMHE RASAY =& Z 130,000,000 130,000
ORZHMEE RASAE HE MEE 1,900,000& 1,900
OMEINdSL IHE AESE 3,000,000 3,000
OREZs HdEHMNEHE AIEZ 4,000,000& 4,000
Oelsaa A 1,500& » 3,200& » 12& 57,600
OSSUAMEZ (A ZX) 5,500,000& 5,500
O&dala u=s =2Zx 29,000,000& 29,000
OdE 2 (aoa) tHaz 500,000& 500
OF= 28+ AIEZ 87,000,000& 87,000
Of=2d Iz MEE 1,400,000& 1,400
o#ZE= UL AMEE 3,500,000& 3,500
O2stl=32a & MEZ 500,000& x12& 6,000
OZstti=sl2 3¢ =22 8,000,000& »12& 96,000
OZstt=sl2 2233 3 =22 500,000& x12& 6,000
ozg=UNM=E2 S 16,500,000 16,500
OFEAZ=IMIA AIEZ 6,150,000& 6,150
Oo#g ZUMSHH MER 2,642,000& 2,642
Oog=4g AEE 65,000,000& 65,000
OZelaE AMEE 1,000,000,000& 1,000,000
OSSUTAZTLSANEANER 140,000,000 140,000
OsIJIHSUHAY LdUHAIEZ 60,000,000& 60,000
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213-02 M I Hel 2 S B+ 480,000 540,000 A60,000
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OsAEMYI ZEM & Bl 90,000,000¢ 90,000
213-03 MEESS+HEHH+ 80,000 90,000 A 10,000
[ Lerg 80,000 90,000 210,000
<R > 80,000 90,000 210,000
OMEBESH B2 80,000,000& 80,000
213-04 JIEt =22 48,000 45,000 3,000
[ 23 ] 48,000 45,000 3,000
<R > 48,000 45,000 3,000
OUEHIIE +4+2 30,000,000 30,000
OSAE2F HIEXM2 ++2(SSFE-AFID) 18,000,000 18,000
214 At ¢ 1,745,311 1,718,343 26,968
214-01 AML & A b 10,000 10,000 0
[ 23 ] 10,000 10,000 0
<R > 10,000 10,000 0
OAMSAYEE ZTEHI MAS X2 HOIHS 10,000,000& 10,000
214-08 ©| 2 At &2 1,735,311 1,708,343 26,968
[ 283 ] 1,735,311 1,708,343 26,968
<R > 1,735,311 1,708,343 26,968
O HMEY ¢ 43,000,000& 43,000
O4eol & s AL AR 24,000
- 40l 40,0008 * 2009 8,000
— St 20,0002 * 800 16,000
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—XEx A2 4,7509 * 109 = 250 11,875
—SYEX Az 4,7509 * 109 = 250 11,875
OBATEA SS9 820,800
-8 A2HY 4,320 *760H x250 820,800
215 4xne34¢ 890,600 875,850 14,750
215-01 A4+nea24 890,600 875,850 14,750
[ Letsl A ] 890,600 875,850 14,750
<UD > 890,600 875,850 14,750
OZAM F4+us3 24,000,000,0002 = 3/100 720,000
Ostazdgz F4+nez 12,500
OEzx82 F4+ue2 60,000,000 * 30/100 18,000
Ost@NERSS3 F4+u23 580,000,0008! * 9.5/100 55,100
OsN2dees 4223 1,600,000,0009 = 5/100 80,000
Otlg=ga 34+n=2az 50,000,000 * 10/100 5,000
216 Ol X4 ¢ 1,230,000 1,330,000 A 100,000
216-01 BB 201X +=¢ 1,200,000 1,300,000 100,000
[ 23 ] 1,200,000 1,300,000 100,000
<R > 1,200,000 1,300,000 100,000
OFJI0Z S 0K 1,200,000,000& 1,200,000
216-06 JIEFOI Kt =2 30,000 30,000 0
[ 25 ] 30,000 30,000 0
<R > 30,000 30,000 0
ONYANEEZ &2l 0lX+Y 5,000,000 5,000
OXNYEEZZ Ha0ol M2 Ol 25,000,000 25,000
220 LAIE M2 3,638, 100 2,423,700 1,214,400
221 THAHOH 22l 100,000 100,000 0
221-03 WAL+ 100,000 100,000 0
[ 23 ] 100,000 100,000 0
<R > 100,000 100,000 0
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223 HESLUEHES 188,100 183,600 4,500
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[ 2etsl A ] 28,000 28,000 0
<ML > 28,000 28,000 0
OSg2d=E 0/ ZH=2 20,000,000& 20,000
OUTISIH2 ALY HES 1,000,000& 1,000
Ost=ztsiH2 ALY HE = 1,000,000& 1,000
OFRsdtaddtnd s 1,000,000& 1,000
OEXHeHAINTAS 0L M= 1,000,000& 1,000
OREZS2dNEE= 4,000,000& 4,000
223-03 BHal= 10,000 10,000 0
[ el A ] 10,000 10,000 0
< WS > 10,000 10,000 0
O= .38 & B3 10,000,000 10,000
223-05 UEH = 150, 100 145,600 4,500
[ Letsl A ] 150,100 145,600 4,500
<ML > 150, 100 145,600 4,500
OJ=2A ez 1,000, 000& 1,000
0SS BHS 5,000,000& 5,000
OXtsxt A XA HEHZ 30,000,000 30,000
OXtsxt SERE L= 13,000, 000& 13,000
OFE el HEHE 30,000,000 30,000
Oodzgele HEHE 1,000, 000& 1,000
oglgell=d ME= 600,000& 600
Ol S/ NEHE 400,000& 400
OA&I A2 EAEL U= 1,000,000& 1,000
OFSHUESIEEZXY <E WEHZE 1,000,000& 1,000
OZUSHAIER & FSAHA D025 WIS
6,000, 000& 6,000
OH&aHI2HAB NS 1,000, 000& 1,000
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OHYIs2cl8RtUE = 5,000,000& 5,000
OASAMUHRALLUEHZ 1,000,000& 1,000
OELSHIEMYEAL BEHZ 500,000& 500
OlJled2dgelet MEH= 2,000,000& 2,000
OxSHUSHHMERE HEHZ 2,000,000 2,000
Ox=ZHA+-dHAHESH0N 2ct EE </ HEHE 2,000,000 2,000
OsSd2cg AL BES 1,000,000& 1,000
Otz HeB N = 500,000& 500
OSAMHIUSHASHE FELLHS 500,000& 500
OHNSMHHISH2SHE FELUH = 500,000& 500
Odt==g2e MEH= 4,000,000& 4,000
OWAXNSI2=AMAEUES 1,000,000& 1,000
OXNSXHENA 2 A UEHS 30,000,000& 30,000
OJI=HSEULH U= 5,000,000& 5,000
OFdsfd2cHU=S 1,000,000& 1,000
OJtFs 29 22 € OSH2SAHEAL HHS
2,000,000 2,000
OSHA=SUHE 1,000,000& 1,000
O =X ABUHE 600,000& 600
224 JIEt=¢ 3,110,000 1,810,100 1,299,900
224-01 =SS M2 15,000 15,000 0
[ et 15,000 15,000 0
<ML > 15,000 15,000 0
O=E3 H2tH 15,000,000 15,000
224-06 12 =+¢ 3,095,000 1,795,000 1,300,000
[ el A ] 3,095,000 1,795,000 1,300,000
<ML > 3,095,000 1,795,000 1,300,000
Osgllsdl sz SRS T+
5,000,000& 5,000
O=z==1 ggArgl 20,000,000& 20,000
OXgAHlA Bies 2,500,000,000& 2,500,000
OMEIEMBEAE 20,000,000& 20,000
020178 =Ttz KXIEAE 300,000,000& 300,000
OJIEt O2=+=Y 250,000,000 250,000
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